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Exercises serie n :02 

Exercise 01 :  

1/ Determine the first 4 terms of the following sequences: 

𝑈𝑛 = 2𝑛2 − 𝑛 + 3 and 𝑉𝑛 =
3𝑛+5
2−3𝑛

 

1.1/ Calculate 𝑈𝑛+1 − 𝑈𝑛 ,  what do you conclude? 

2/ Let (𝑈𝑛)𝑛∈ℕ the sequence defined by:  

2.1/ Calculate: 𝑈1, 𝑈2, 𝑈3. 

2.2/ Calculate 𝑈𝑛+1 − 𝑈𝑛 ,  what do you conclude? 

Exercise 02 :  

Study the direction of the following sequences: 

1/ 𝑈𝑛 = 2𝑛 + 1 

2/ 𝑉𝑛 = 5 × 3𝑛 

3/ 𝑊𝑛 = 4 × 3𝑛 + 9 

Exercise 03 :  

Let the arithmetic sequence  (𝑈𝑛)𝑛∈ℕ be defined on ℕ, with reason 𝑟 = −2 and the first term 𝑈0 = 15. 

1/ Write 𝑈𝑛+1 in terme of 𝑈𝑛. 

2/ Write 𝑈𝑛 in terme of 𝑛. 

3/ Calculate 𝑈1 , 𝑈10 

4/ Calculate the sum 𝑆10 = 𝑈0 + 𝑈1 + ⋯ + 𝑈10 

Exercise 04 :  

Let (𝑈𝑛)𝑛∈ℕ a geometric sequence such that: 𝑈1 =
3

2
 and 𝑈4 =

3

16
 

1/ Determine the reason ‘q’. 

2/ Write 𝑈𝑛 in terme of n. 

3/ Calculate the sum 𝑆15 = 𝑈0 + 𝑈1 + ⋯ + 𝑈15. 

Exercise 05 :  

We consider two sequences (𝑈𝑛) and (𝑉𝑛) defined for all 𝑛 ∈ ℕ by: 

𝑈𝑛 =
3×2𝑛−4𝑛−3

2
, 𝑉𝑛 =

3×2𝑛+4𝑛−3

2
,  
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1/ Let (𝑊𝑛 ) be the sequence defined by 𝑊𝑛 = 𝑈𝑛 + 𝑉𝑛. 

Prove that (𝑊𝑛 ) is a geometric sequence. 

2/ Let (𝑇𝑛 ) be the sequence defined by 𝑇𝑛 = 𝑈𝑛 − 𝑉𝑛. 

Prove that (𝑇𝑛 ) is an arithmetic sequence. 

3/ Prove that for all 𝑛 ∈ ℕ, 𝑈𝑛 =
𝑊𝑛+𝑇𝑛

2
. 

Exercise 06 :  

Let (𝑈𝑛)𝑛∈ℕ an arithmetic sequence such that: 𝑈1 = 3 and 𝑈3 = 9 

1/ Determine the reason ‘r’ 

2/ Write 𝑈𝑛 in terme of n. 

3/ Calculate 𝑈5, 𝑈20 

3/ Calculate the sum 𝑆20 = 𝑈5 + 𝑈6 + ⋯ + 𝑈20. 

 

 

 

 

 

 

 

 

 
 


